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I 23 mwn: the po¥ is n¥In for nrMY, not for k¥v - if the ymp became Xnv and he burnt it nonetheless — accepted; but not rxv
a  Source: v.1- cannot refer to Y9 (v. 2 — 2w1 RY), nor 1M (v. 3 — 17 RY), must be nrNMV
i Reason: it is ammn in case of RnvV Max M1
ii ~ Challenge: why not allow for X¥v, which is permitted in case of nna
1  Answer: end of v. 1 — p>¥ acts for sin which is ’n 2199, not rxv
iii ~ Challenge: why not allow for Yx8nw, which has permitted use on 3"nv (with nmopn nyan)
1 Answer (7a8): py(v. 1)>something which is somewhat sinful, as opposed to Y8nw which is »11m% 9mn (on >nv)
2 Answer (>wx ’7): w0 MY (V. 1) 2 and not oW Tpnn My (a sin of the officiants)
iv  Challenge: why not allow for mn *5y3, which are permitted in re: birds (only 7ar q01nn is invalid)
1 Answer: v. 4 stipulates that a DM Y2 can never be accepted
I Conflicting mn»a regarding the range of My nxowi of the y»
a 787772 ¥ is only n¥n for mwa RNV BT NP, or for TN RNV TN for a MY 127p; but not B19) MIIP —even DIX
b 2xm2292 px is n¥In for 29N ,07 or 7wa that became Rnv — whether T/0Mv, whether Max/1m?
i Resolution #1 (901 27): P01 "1 vs. 1127, per dispute about nknoY NMIN:
1 am772 may not take Xnv to “cover” Mnv, and if he did:
(a) oo - invalid; Mwa — valid
(b) ’o» ’7 in either case — valid
2 Challenge: all we know from here is that *01 1 doesn’t “fine” for T, but allowing for y>¥ isn’t his position:
(@) A577792 8™ — p>x is nxn for edibles (as well); *ov "1 — it isn’t DYIIRN HY XN
(b) Defense: reverse positions in the xn»a
(i) Challenge (w™): cannot reverse
1. Reason: X1 which infers from vv. 5-6 that p>¥ is n¥In for MR, but not for rRxy
a. And: we know that 8" is the author of the position that x5 no»mn np»r pr
b.  Therefore: the Xn»71 must be authored by X" >our 8n»M2a cannot be reversed
ii  Resolution #2 (X707 77): MMYYR "1 vs. 1127 (per Rn»11a invoked above)
1 Challenge: we only know that 8™ allows for m?%aR %p Y% ¥ — but not that he doesn’t fine for 1t
2 Answer: we do know that he doesn’t, per explicit ruling in his name re: 11nvn %Y XNV NMIN — even TTN1 — valid
(a) Challenge: we only know that he doesn’t fine in re: nmyan, which is less severe than owTp
(b) Answer: if so, we have no one who could author 2xn»12
iii  Resolution #3 (x2237): the nkmv could have occurred 1ma (2xn»12), but the np> 1 — only amwa (18n»1) — both are 0™
iv  Resolution #4 (852® 77): N1 could have been 111 (28n>13), but the kMY — only awa (18N71) — both are 0™
1 Challenge: language of 2xn»11 favors 81a17’s alignment
(a) Answer: 28111 means if he became w1 vnv and then did np1 — even TN
2 Challenge: Xn»11 which (again) indicates that the »w/mm fault line is re: np’1, not nrNMY
(a) Answer: again, rereading wording so that the nkmw is the Tm/mw line
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